
AnswerWithExplanation

1. (a)Litreisunitofvolumewattisunitof
power.

2. (d)LionlivesindensimilarlyRabbitlives
inburrow.

3. (b)Chiselisusetomakeacarve
similarlySwordisusetoslaughter.

4. (b)A+1=B,E–1=D Hence,E+1=F,I
–1=H

5. (c)C+7,F+7,I+7=JMP Hence,B+7,E+7,
H+7=ILO

6. (c)Hereallarereverseletters.
7. (c)2×4=8so,3×4=12
8. (b) =256 so, =129644 66

9. (a)14×3-2=40,hence,22×3-2=64
10.(d)Mobileisanelectronicdivice.
11.(a)restareoutputdevice.
12.(a)restareunitofmeasuringlength.
13.(d)restareconsonant.
14.(d)restareincrease+2+2
15.(d)restaresum oforiginalvalueis

primenumber.
16.(b)restarecubenumbers.
17.(a)restaresecondnumberisthesquare

offirstnumber
18.(c)restaredifferencebetweentwo

numbersisperfectsquare.
19.(c)
20.(d)
21.(a)
22.(d)theseriesis12,22,42,72,112

23.(b)thedifferenceis+5,+10,+15then
+20

24.(c)theseriesis×2,×3,×4then×5
25.(a)D+2=F+3=I+4=M+5=R

26.(b)

27.(b)

28.(d)

29.(c) C>E>B>A>D

30.(a)Thiswordhasthree‘E’

31.(b)CHINA

32.(a)thelettersarewritteninreverse

order

33.(b)hereR=1,E=2,A=3andsoon

34.(d)afterinterchangetheequationis

42÷7+4×10-4=6+40-4=42

35.(b)30÷6-7+10=8

36.(c)heremiddledigitcomesfirstthen

firstdigitandthen3rddigit

37.(a)columnwise =6×22=2436

=10×42 =160100

38.(c)columnwise(5+7)÷6=2so,

(9+7)÷4=4

39.(a)columnwise(6×4)-(5×2)=14,

Hence,(6×7)-(7×4)=14



40.(a)

41.(c)

42.(b)

43.(b)threefacespaintedalways8

44.(c)clearlyweseethatnocupisbottle

45.(d)

Here,allcupsarebottles(true)

Somecupsarebottles(true)andnocupis

bottle(false)

46.(c)

47.(b)

48.(b)

49.(c)

50.(d)

***Ifanyqueryaboutthesequestions,pleasecontact8167092555from 10

am to6pm.***


